0001886363118999

o0 EFHAXY 0—e

2014 4. 575 2 [t | X8 /2%

2 sinOz%%hﬁjt"i‘O (O<8<%)&:5@Lb, ay =5"sinnf £ (n=1, 2, ). KON
o

(1) B3 {a,} &, HBHA, BEHNT
an+o = Aay+) + Bay

ERINBE, ZOLE, A BOfERD L.
(2) anid b THB L ARDZEHTHDZ & W L.
(3) OIXMAR 7 OFBEME TR AW & 2 EHE L.

(1) Qnt2 = AQner + BOn & Gh.us?n (h-rz)@ = A-l;nﬂs‘m (n+1)0 + B- 5"ian0 (%)

22T, sin(nt2)0= SinnB cos 28 + cos N st 20

sin(nt)B = sinnbcoc § + cos nBsin b

1
I, sin B:% , c059=%, Sin20= 2sin Beosh = ;—?-', cos28= - 7 &)
3
sin(n+2)9 = -.2—_% sinnp +EQ—';." cosn® . sin(ntl1) = gsTnngf%CDShQ

y8Y. (X)) RAVAT 3,
5{ Tsin NQ T 24 cosnb- A(Ss-nn9+46ogn9) Bs-nh@}— 0

g 5”{—(713A+B)stnn8 + (24-44) cosn9} =

g { M+3A+B= 0 & Az( B=~325
24""4A =O 3

@ (1) &). @ntz = 6Qnti = 250n
Pfe, Q= 5sm0=4, (a=265020=24 &) 1FANEY 1 Qnis BET 1243
On+2 = Qu+t +* 5(Ane1 = 50n) &Y N2 20%3 An+t & fn @ 5’("‘%'] N U R

A ntFTELREY)E Q5284 4 FLn
h={at3t Qi ESTEIZLARIZ LTS, Qn(nstiz, ) 2504130483 o




0001886363118999

o0 BEEHAY 0—e

2014 42 55 2 1 27X B /24X

2

Z &
(1) #5l{a,} 12, BB A, BEHWT
an+2 = Aay41 + Bay

ERIND, ZhkE, A Btk k.
(2) ap 5 THIBL 4 RBEHTHDZ L % IAPE L.
(3) O FMHARE r OFRBETIERNT & 23HE L.
(9 § T 0 AR THILIREIT BE K AT
&

= 5T (P.§1s B¥ 73 ,TetLp>0 ,%50173)

cars. ap= 5 sin $T
¥ 5 g =0

sap=o0 ERIN, shE a5 rEI3rasscicAfEl

S HEROREBEMBTRYY B

2 Sint9=~§—’&?ﬁﬁfc’c}'0 (0<6<£)#:5@‘b, ap =905"sinnd £HB< (n=1, 2, -

).

ROFNZE




